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jon Paper Version : A

1.
ﬁ
2. Use only Black ball point.pen for writing / darkel%mg the circles.
3. For each question, affer selecting your answe;r, Harken the appropriate circle
‘ er’'on the OMR sheet.

4. Darkening two cm:les for the same questlo/ makes the answer invalid.
5. Damagmg/Q%erwrltmg, using whlgeners on the OMR sheets are strictly
1.

a) spoken in transitory

¢) spoken and permanent

)

2. Which element is the medlum through Wthh

a) context b sender ’f’ \
3.  When colleagug% share the official cox%{numcatlon itis...

a) radial ) mformal Wy o honzontal i d) vertical
4. When the: qemmunlcatlon is in bet\gy en managers a@d workers it is

a) info‘&;xm;}gl‘ b) vem@cal EF honzontal d) crosswise

P ww

5. Manager providing tips to ﬂme team is .

Ze

8.

9.

P )?Vertlcally downward,, ¢

‘b) formal
“d) vertical

&\greceiver response is called

In communication; the observanor;,,xoﬂ
c) survey d) channel

b) feedback ..

Written diary every day is an. example of which communication?
a) interpersonal b) m%“érson c) organizational d) extra personal

The management cuculates a memorandum regarding new bonus and incentive schemes

among all the emp ees it is a case of communication.
a) radial %, "b) upward ¢) downward d) crosswise

g, ¥
What is the type of communication which takes place within an individual?

a) interpersonal b) intrapersonal c) organizational d) extrapersonal
“NM.,»
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23

24.

25.

26.

27.

A rumour in the city is a form of

a) Grapevine

b) downward

How many IPAs are there?

2) 46

Do not boast
a) for

The ship was bound
a) to

I prefer tea
a)to

b) for

b) 44

your wealth.
b) of

Indias

communicatio
¢) radial

Tick the correct phonetlc transcnptlon of the word ‘Sheep

a) /Thip/

b) /chizp/

c) /izp/

Tick the correct phanetlc transcription of the* wé)rd ‘Judge’.

a) /d3ad3/ ¢

Tle the correct phonetic transcnptlon of the word %ees b

a) /tf 311/ EW

a)cup,”

“ b) v tlof

b) /d3juj/

b) /tf

‘yquilfthe word ‘These’

L“f’&o) /zuij/

c) /theez/

c) /tLg z1/ ‘

¢) t] 3o/

»;‘;vs “:‘Iff*«r, v

c) Post "’

In Wthh of the following" WOMS letter P is not’ ?swsﬂent

a) cupboard

a) He

a) Theatre

- b) prieumoma

,,,,,,,,,,,,,,

"““"“c)*coup

e’

.. ¢)Crew

c)BothA&B

Someone’s life history Wﬂtten by another writer

a) autobiography

b) b;bllography

¢) biography

Person who does notwpeheve in the existence of God:

a) Heretic

Tendency to favour one’s relatives

a) Favourl

b) Nepotism

c) Atheist

c) Expiation
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Find collective nom n the sentence : ‘Heswas part of the film crew’.
~b) Film Ve
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d) horizontal

d) 26
i

d) for
d) /thiip/

d) /zuds/

d) Atlatfo/

d) pull

d) None of these

d) None of these

d) None of these

d) story

d) Theist

d) Spinster
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28. One who totally abstains from drinking

a) Heretic b) Teetotaller d) Stub
29. What is the emphatic form of pronoun ‘I’?
a)l b) Me d) Myself

30. Thave _my holidays in Kolkata. (Fill with'e¢
“,.¢) spending dy’%pended

a) spent b) spend
31. Raktim or Sandip will recelve»\you%? (Fill with correct cox;junctlon )

a) a) but b) either .« c¢)and # “» d) none of these
32. What is the root word, in the . rd ‘BILINGUAL". ’

a) bi b) bﬂma%f‘ Y c) hngua;;g;% d) ingual

g;%?% L ?u\ ﬁf* 3 w&r«

33. Whatis the full form of B2C? \

a) Business to Counter © b) Business to Consumer

c¢) Bank to Custqme%@r P X\“ﬁ;and to Consumer

L

34. Whatis the ;ﬁﬁl form of CTO?

a) Chief 'yran“ﬁmsswn Officer & b) Chief Telecom Officer

c) Chlef"’*l‘ echnology Officer oem  d) Chief Technqlogy Operator

S 9

35. The correct contracted form of wculd not’ is?

a) would’nt b) wouldnot c) wouldn’t

i Wﬁ“ -

36. Tick the minimal pair with rﬁ“&dlal sound dlfferque‘

a) mug-jug b) ”@hlp sheep d) pit-bit

37. Tick the minimal "’%wﬁh final sound dlﬂ:'eran e.

N f y “c) mat-sat d) pull-pool
38. She was very ﬁond of chocolates,, %‘“Sunable Quest;o ;l;ag.)
a) Wasn’t gb& b)Do 12 W@ c) Isn’@;;ﬁ d) Isn’t she?
39, Have some more cold coff ck suitable Question Tag )
a) Have you? b)yW ﬁfwould you'7 QQKWon t you? d) Weren’t you?
40, Punctlhous (Tick th o W ﬁrd having closest rﬁcanmg )
ras meticulous (% E&) casual ¢ ¢) Final d) none of these
! )
41. Opulence. (Tlc‘ the word having cIosest meaning.)
a)poverty ‘Y, b) pcnury . c) affluence d) indigence

42. Mr. Chatterjee is M A Which article will be suitable to fill this blank?
A ¢) The d) None

a)A

43. My brother studies in _¢ university. Which article will be suitable to fill this blank?
a)A f.eb) An c) The d) None of the above

44, He did not was};;;i'% th%é clothes. Tick the present progressive form if the sentence
b) He will not be washing the clothes.
d) He has not washed the clothes.
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45. It has been raining. Choose the Future indefinite form of thg
a) It would rain. b) It w111 Ve been rammg

¢) It should rain.

a) The train had reached at the statlon {
b) The train is reaching at the railway station
¢) The train will reach at the railway stati
d) The train reaches at the railway statlém.

S
i

47. The gardener had been watering Fh plants for two hourss‘

sentence?
a) Present Indefinite B b) Past Perfect”
c) Past Perfect Contmuou Y d) Presen' % rfect Continuous.

48. The Sun rises in the East. Choose the Future Perfect Contmuous form of the sentence.
a) The Sun will havet&peen rising in the East. "

b) The Sun will ﬁave risen in the East.
¢) The Sun will rise’ in the East.
d) The Sun/

‘&glﬁ“"be rising in the East.

49. “t7’ Thesound is present in
a) thin

50. “” sound is there in
a) feet
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